
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Prozente der Dezimalstellen berechnen

8, 62 × 10% = ________ 0, 41 × 20% = ________

7, 08 × 90% = ________ 6, 01 × 40% = ________

5, 27 × 80% = ________ 7, 25 × 90% = ________

2, 1 × 60% = ________ 6, 2 × 40% = ________

4, 79 × 60% = ________ 9, 43 × 40% = ________

7, 2 × 10% = ________ 5, 8 × 80% = ________

9, 02 × 60% = ________ 4, 15 × 10% = ________

0, 06 × 50% = ________ 2, 78 × 30% = ________

4, 63 × 40% = ________ 2, 58 × 30% = ________

6, 35 × 40% = ________ 4, 7 × 80% = ________
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